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(the process of designing, EEJ_E&H

writing, testing, debugging, . .
and maintaining the source code of (Sequence of instruction)

computer programs)
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(a collection of computer programs
and related data)

AZES 0] AlAE
(a system based on software)
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System : a set of interacting or interdependent
components forming an integrated whole
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#include <stdio.h>

int main()
{
int big, x;
big =0;
while(Ifeof(stdin)) // 71 = =% stdin o|g}aLs}, Cirl-Z&2 $ 5
{
scanf("%dwn", &x);
if(x>big) big=x;
}
printf("the big is : %dWn ", big);

o 20| EC.(& o) 2 1)

<C ANs+x g=2>



1.1 2ZEN JHE 0o

(272 D CHAH) — H=

A HAE T2 )8 HAESH. E0 &= HOIEHE &0tA &8s

o

Ct.

5. M8 1 B T2 H0I(Z3)0H &0tM ALZ2 S :
H BFEW EXlots 8, Z2)8s =dote 8, 2MIt U= [ i Zote H=S
BH2ALL Mz &3&E A=8 =0

2
.

6. l2 & B HH : 2= AIES ot 282 WE0l HEEN HE H2 +=
T 8M 2ot EHACH Ex== 01X= Al EXNHZ0l ESUHA CHAl Z= el
0HE HO0tM =& = 2=otH =t 1 2 =008 Melot ERott=Al, 23
HIADEBHH O 22 18 S LAl EXIetth=A s2 M EdE 5= UL

<C ANs+x g=2>



1.1

ATEN JHE O

(=208 HE Al d2E H)

1.

I H50H === HO0IHE JACHD LSHOH 5/ 22 )H2 F 00

(93D 0|21 SAIRMCAH). HOIEHIN 25 S4501H 20401 EClCH — 4 7

> ATEAN HEAl 22 XDF HE X0 H ol & 2RIF /UL

HaO G WA E2 08 max.exe &1 max.c T2 ]S MdEEX| 22
S H

H QA B SHHA HHE 22X H20? SAEx & [ F35/0F SCHH?
—> AADEO ALSAZ2 92Xt BHOtE E It ALt

HHI) T2 S HIR2CHHE (SN €017 Z2 009 9E0| SAEH?
> ATEQ JHEO WO et T2 Mol A&t et &IC

_

It AAEoHUIH EFEH2 2EHADIL gt EHE? =22 &= Ol0Ie 2 Xelot
ZRotH?

>ATEFNHeE HE = AZEFANH ME &8, E2 M=& -0l Mt i

<C ANs+x g=2>



1.2 ATEQ Y SHAHI(Software Life Cycle, AT E 0 MH =)

(1) R AE 24 (Requirements Analysis)
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